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CE 278 Structural Analysis

Tutorial (8)

Loads on Structures
(Part II)



Example (1): Use the approximate method to convert the trapezoidal load on the beam to a uniform load.

Xx=5m, L=12m

? |
SRRl e | =
3 L 3l 12m 5m[ :

B=1-Fo1-2M 583
L I12m

Equivalent uniform load
(Bending Moment):

Wy = AW, = (0.769)(39.6%)

Equivalent uniform load
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Example (2): Use the approximate method to convert the trapezoidal load on the beam to a uniform load.
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Equivalent uniform load
(Bending Moment):

Weq(M) = OCWM = (0667)(792k—Nj = 5283k_N
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Equivalent uniform load
(Reactions + Shear Force):

Weq(R+V) = ﬂwu = (050)(7921{—1\]) = 396k_N
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Does it work?!
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Origmal Bam  Tr€ACtIONS and Shear Force
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Questions?
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